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Detector map residual (visit=97828, arm='r', spectrograph=1)
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Detector map residual (visit=97828, arm='b’, spectrograph=3)

Wavelength residual (unit=nm)
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(point=median, errbar=1sigma scatter, unit=nm)
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Detector map residual (visit=97828, arm='r', spectrograph=3)
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DETECTORMAP_RESERVED residual (visit=97828, arm
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1)

dy mean [nm]

(visit=97828, arm='r'", spectrograph

DETECTORMAP_RESERVED residual

dx mean [pixel]
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dy mean [nm]

'b', spectrograph

DETECTORMAP_RESERVED residual (visit=97828, arm
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DETECTORMAP_RESERVED residual (visit=97828, arm='r", spectrograph=3)

dx mean [pixel]

4000 1
3500 -
3000 -
2500 -

> 2000 4
1500 -
1000 -

500 A

¢ st g
o d st 2 §
..? ’;5 3.

! ? ;i:; s

.“ A ‘s?: i‘t oo

500

1000 1500 2000 2500 3000 3500 4000
X

0.03

0.02

0.01

0.00

-0.01

-0.02

-0.03

dy mean [nm]

0

500

1000 1500 2000 2500 3000 3500 4000
X




dx mean [pixel]

DETECTORMAP_USED residual (visit=97828, arm="'b’, spectrograph=1)

4000 -
3500 -
3000 -
2500 -

> 2000 -
1500 -
1000 -

500 +

.:":-_i.o}!-
$

b
by

”»

$

>§ -

1

3

'

k

i
!
3

s &
..’f

)

A
any,

SR ssspen

4 »

L

o B

“
’\.
S

$38 Sof
i3

- pA

N .
B e T ) | B e

PN L LT P

500

1000 1500 2000 2500 3000 3500

X

0.03

0.02

- 0.01

- 0.00

-—0.01

-0.02

—0.03

dy mean [nm]

s AAN 0 an AR SN

X1 1}
(i i1 Bif
TRt

$ 35 8 ¥
ETiE é‘;
B WRhs g 1 L
g S804 o
SLINRER
SRS
38 " . : @ i

T Y
- N
4 r,
o ]
:-r-
& 7 T
-,
g 2 T
B AR
&
1 1
[

APPOPORNN . A PN R AN
o

0

500

1000 1500 2000 2500 3000 3500
X

4000



DETECTORMAP_USED residual (visit=97828, arm='r', spectrograph=1)
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DETECTORMAP_USED residual (visit=97828, arm='b’, spectrograph=3)

dx mean [pixel] dy mean [nm] le—5
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DETECTORMAP_USED residual (visit=97828, arm='r', spectrograph=3)

dx mean [pixel]
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Wavelength difference (b-r) [nm]

« 630.2046 nm (567 fibers, median=2.8e-03 nm, 1sigma=0.019 nm)
636.5536 nm (565 fibers, median=1.1e-04 nm, 1sigma=0.013 nm)
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0.20 - « 630.2046 nm (556 fibers, median=-3.0e-03 nm, 1sigma=0.012 nm)
636.5536 nm (553 fibers, median=-3.0e-03 nm, 1sigma=0.010 nm)
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